Tuesday- maths

yPower Up

Match the numbers in words to the numbers in the grid.

Write down the number that does not match.
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Two hundred and thirty-three
Three hundred and fifty-four
Five hundred and thirty-two
Three hundred and fifty-five

Two hundred and twenty-three
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I can draw the three place

value cards needed to make the
number that does not match.
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Match the numbers in words to the numbers in the grid.

Write down the number that does not match.
Two hundred and thirty-three

Three hundred and fifty-four
Five hundred and thirty-two
Three hundred and fifty-five

Two hundred and twenty-three . . .
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Dividing a 2 digit number by a 1 digit number

n a) 56 bean bags have been used. There is an equal number of bean
bags in each lane. How many bean bags are in each lane?

a) There are 56 bean bags altogether.

There are 4 running lanes.

S6+4=7
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S0,56+4=14

There are |4 bean bags in each lane.
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Dividing a 2 digit number by a 1 digit number

b) There is a bean bag every |10 metres in each lane.
How far is the furthest bean bag away from the start line?

! The first bean bag is 10 metres away from the start line.
The bean bags are then 10 metres apart.
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There are 14 bean bags in each lane. ;
[ thought the answer

There is one beon bag every 10 metres. was 130 metres. I put
the first bean bag at
4.0 150 the start.

The furthest bean bag is 140 metres
away from the start line. \




Dividing a 2 digit number by a 1 digit number

The layout of the race has
been increased. G
This time, there are 76

bean bags being used, but

still over 4 lanes. ‘ ‘
How many beanbags are

there in each lane this

time?
Follow the same method as _ . B _oate
before... f}?@‘\



Dividing a 2 digit number by a 1 digit number

Answer from previous question: 76 +4 =19

Now, another race...

78 cones are divided equally across 6 lanes.

I wonder if I
could partition
78 in more

than one way.

How many cones are in each lane? @
A

=D D*hm m+E=D 1

There are D cones in each lane.

50,78 + b



Dividing a 2 digit number by a 1 digit number

Success Criteria

* Read question/calculation carefully
* Look at divisor (number you are sharing by)

e Partition the dividend (number that needs to
be shared)

 Recombine (add together) subtotals to find
final answer



Dividing a 2 digit number by a 1 digit number

Answer from previous question: 78 + 6 =13

Fluency

Work out the following calculations using the
same method of partitioning:-

1) 35+5

2) 48 + 3
3) 644
4) 84 +6
5) 84 +7



Dividing a 2 digit number by a 1 digit number

Fluency answers

1) 35:5=7 48:3=16 64+4=16
2) 84:6=14 84:+7=12

Reasonlng Zac is decorating cakes.
He has 72 chernes, '%

He puts 3 chernes on top of each cake and uses all U

the cherries.
% %

He then packs all of the cakes into boxes of 4.

How many boxes of cakes does he pack?

I think I need to do more
than one division. I will do
one at a time though.

Ny * 73
e



Dividing a 2 digit number by a 1 digit number

How did you do?

First you need to find out how many cakes there are?
Each cake has 3 cherries on top and there are 72 cherries,

SO...
Step 1) First we work out 72 + 3 = 24 because there are 24

cakes with 3 cherries on top of each of them.

Step 2) So now there are 24 cakes and each box can hold 4
cakes so we work out 24 =+ 4 = 6 which means there are 6

boxes of cakes!



